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Topic:- Child Development & Pedagogy (CDP)

1) The Socratic method is known as: / §&relt fafr & feer & @ B dlk W s S &
1. Discussion method / foaR-faast fafy

2. Question- Answer method / IR fafr

3. Lecture demonstration method/ ITEAT e fafer

4. Inquiry method / adis fafer

Correct Answer :-

« Question- Answer method / U fafdy

2) Law of Exercise stresses the importance of in learning. / 3318 &1 forgs rfQere q
% HAgcd W oo T ¢

1. Reward / QU&PR

2. Readiness / dcUdr
3. Practice / I¥ITH

4. Impact / GHTT

Correct Answer :-

o Practice / I¥IH

3) According to Carol Dweck’s Mindset theory, an incremental view of ability means . B

F F AR F T F AR, &AaT F T 68 2T F AdAT gl
1. a stable and uncontrollable trait. / Teh f&UT 3R FFIHT fAdwarn)

2. a characteristic of an individual that cannot be changed. / Uh It HY AAuar FE dear F@' ST Hohdl

.y



3. a set of intellectual capabilities a person possesses. / g &THATIT P Th dAzg S T Ik &
urE Bl B

4. an ever expanding repertoire of skills and knowledge. / pierel 3R AT FT TH ﬁﬂ—_cl?f e |

Correct Answer :-
« an ever expanding repertoire of skills and knowledge. / Pigrel 3R AT T TH ﬁw frEar|

4) According to Piaget, children experiment with sounds during the /e & AR, T
¥ che eafeal & @y waer w3 €

1. Preoperational stage / Uﬁw (ﬁl’r\’rﬁW) SHART
2. Concrete operational stage / #FJ TfhdTcA® (Fhic ATURRAAS) IaEAT

3. Formal operational stage / 33T GihaTcA® (WidTel JTURRAS) IaTAT

4. Sensorimotor stage / €4l Ueh 37eaeAT
Correct Answer :-
 Sensorimotor stage / FIGI IR 3TTEAT

5) Why is the learning environment important for active learning? / G 31f@erer & faw rfdereT &1

afder Fai eyt &2
1. To build knowledge through collaboration. / TEIAWT P ATECIA T A h ApfAad s & o |
2. There are no assessments. / Ehélé' Jlhold Flﬁl

3. There is no need to engage with the content. / GTHIT ¥ Tford A &I TaIRAT T &

4. It uses multiple resources. / I H5 FATIAT HI YT AT &l

Correct Answer :-

« To build knowledge through collaboration. / TS & FATCIH & AT Bl ARAT I & forw |

6) Which of Erikson’s stages of psychosocial development typically occurs in adolescence? / TR&FHT Y
oS e & wia @ sarar Rftse @ & Fakaea & < 2

1. Identity vs. identity confusion / Ugdld JelTH Ugdlad Hifd

2. Generativity vs. stagnation / STeellcHddl deltd EARAT
3. Trust vs. mistrust / TTATH T 3faara
4. Intimacy vs. isolation / Gfa8dT daTH faeeaar



Correct Answer :-

o Identity vs. identity confusion / Ugdld IITH Ugdl Hifad

7) Which of the following is least likely to be a sign of depression in adolescence? / fFaiRTaEdT # AT
# ¥ W UG F1 GHA @R Y WA §?

1. Sudden drop in marks / 37 # 3R FR@T
2. Missing classes / @& # IR TR &=

3. Withdrawing from friends / Gl & §T &eall
4. Changing friend groups / TR GHgI Pl aeram
Correct Answer :-

» Changing friend groups / 8T HHgl &I agara

8) Which of these statements best describes the ‘Law of Readiness’ according to Thorndike? / 4T=iss®
F AR 398 F FIT-UT FIF ‘TeRAT AIH FT TGO ST qoieT Far 82

1. It means that drill or practice helps in increasing efficiency and durability of learning. / g&aT 31 & 6
TfAETOT AT 7T T hr geTar IR TATRcT Pl T H A T &l

2. It means that preparation or disposition of the subject contributes to learning. / g&a®r 3F & 5 fawr &
SO I1 THE WA F AeeE &ar

3. It means that the organism changes its response till an appropriate behavior is hit upon. / g&e®T 31 Ig &
fF T 3UYH AIER & UeR B db SNd I 9fARAAT ggerar ear

4. It means that trial and error leads to connections being formed. / 3&#T 3 & 6 wara 3 3fe & dror
T I B
Correct Answer :-

o It means that preparation or disposition of the subject contributes to learning. / g&®T Y & 5 fawy $ir
IRy I Taeg T F AreE AT ¥

9) The ability to think rationally and act purposefully is .| THEEIT T F e A’ segeat
aF F FF F& N aTHAT gl

1. Reasoning / d®

2. Perception / 3fffd
3. Intelligence / gig

4. Creativity / TdalcHDAT



Correct Answer :-

+ Intelligence / g

10) The term Bandura used for explaining, overall process of social learning is . EI§T[ a d@a i
AT WHATSS IR F gHA F AT fFw gg w1 w2 R § I

1. Self-efficacy / 3TcH-THTGRTRAT

2. Conditioning / 3icIpeled

3. Vicarious reinforcement / YcI{AHd Udeled

4, Modelling / gfasgor (HAisfem)

Correct Answer :-

« Modelling / gfawuor (FisferT)

11) are considered to be the most important factor in students’
achievement and successful implementation of inclusive classroom./ &I

fagamft it suafeer i wwmael Fa1 F g6 FRATTadT 7 FaH AgaqUT FRS
msnr-n%l

1. Teachers / fr&T®
2. Principal / U
3. Supervisor / TideTdh
4. Counselor / HellgehX
Correct Answer :-

o Teachers / 18T

12) Which of the following theorists believed in the role of biological maturation in the
development and learning process? / Fafaf@d d ®19  RigideR fAeare v siftrm #t
wihar A Sfaw ufvusar $t YfireT w® iy sa &2

1. Kohler/a§|61
2. Skinner /f&haR

3. Vygotsky / AT
4. Piaget / TOaTSt



Correct Answer :-

» Piaget/ PRI

13) Reasoning is studied under ./ & Sideid difberd &7 3reag= fohar wirar 21
1. Social development / AT aepra

2. Cognitive development / T<ATATcHAD T

3. Physical development / QMITReh Tdepr

4. Personality development / <dTthed Tdepra

Correct Answer :-

« Cognitive development / HITATcH® Tahrd

14) Child development refers to the ; and changes that
occur in human beings between birth and the end of adolescence. / 919 faprg T aread

, iR TRad= A 8 &l A7 & o 3R fPURawT & 3id &
da e g

1. Biological, Psychological, Emotional/ ﬁﬁﬁﬁ, Hﬁﬂ?ﬂﬁ?ﬁ, HATIATHD

2. Qualitative, Empirical, Quantitative/ I[OTIcHD, AT, ATATcHD

3. Childhood, Adulthood, Adolescent/ TTU, TIEHT, fhAR

4. Infancy, Early, Late / S0, STeqr, X &

Correct Answer :-
+ Biological, Psychological, Emotional/ SIfde, FAII_AASh, HTa=TcD

15) India signed the United Nations Convention on the Rights of Persons with Disabilities
(UNCRPD) in which of the following year? /

HRd A fapein aafeadl & frpRI g WY TP W (UNCRPD) W = d & fory af &)
TR P2

1. 2006
2.2007
3.2008

4. 2005



Correct Answer :-

« 2007

16) Gifted children are good at / UfdHTRITeN 9= fbe HeH & 9gav 814 82
1. All of the above / m'!iﬂ? g

2. Ability to quarrel with others only / Dhdol 3T & 1Y BT IA Dl JoIT H

3. Ability to solve problems only / hdel HHEITHT Pl ol Il hI ATTAT A
4. Ability to help teacher only / %ad fR1&/® & TeAdl B &I Aaar J

Correct Answer :-

« Ability to solve problems only / chdel THEII Pl T P I JIAT H

17) Abraham Maslow propounded which of the following theories of motivation? / 3[dIgH

AT A Ron & Fafafead Rrsidl & @ et ufvufia fear
1. Humanistic Theory/ HTAGAEITAEd

2. Incentive Theory/ UXeh fgid

3. Drive Theory / 3134 f&rgid

4. Expectancy Theory/ 3081 g

Correct Answer :-

« Humanistic Theory/ ATTIdTe [ AgTd

18) What are some ways to help children develop problem-solving skills? / =

# U as™ & PR e Rid $31 § Hag H1 & $O aild 182

1. Be a helicopter parent — do not give children space to make mistakes. / U® SUIPITR
HYUTaH & - Tl DI TAfAAl B DT IR A ¢

2. Avoid giving children the chance to make tough choices. / g Bl Sffcd fddhed g-Id ol

HipT ¢ 9 &
3. Make problem-solving a fun part of the culture of your home. / GHI-HHTYUTT CARCIERSRY

DI IIHId BT T TolgR fgwr s

4. Children must be protected from experiencing failure. / g<al Pl BT BT JTHAT TRA &

IATET ATRT|




Correct Answer :-

« Make problem-solving a fun part of the culture of your home. / SHIT-THTYTT P 3T W

DI G DT Th AWGR fgw T 17|

19) In Freud'’s view, development is a process. / WIgS & fdUR #, fder™T
THs_ ufpargl

1. Continuous / faax

2. Random / T TSh

3. Active / Gfshd

4. Discontinuous / 3R

Correct Answer :-

« Discontinuous / 3Taa<

20) What type of forgetting occurs when information in our memory stops us from recalling

other information that is also stored in memory? / SId s'mﬁ Fﬂﬁ' A ISR Eﬁ' F«Hﬁ' "
maﬂamrﬂaﬁmm#mrcﬁ%a?mmaﬁrma?ﬁ%?

1. Decay / Udd
2. Delay / fdeld
3. Cue-dependent forgetting / Hohcl-3TIRd Hel

4. Interference / 3TdY

Correct Answer :-

« Interference / 37aAY

21) What type of a learner is one who learns best by watching movies or documentaries? /
tF frendt st freat ar qafeEt # dua we reoT Waar § a8 FH vaFwR w1 famft
e?

1. Aural / PUHFIHT
2. Kinesthetic / UTNITR
3. Reading/writing / TS / @

4. Visual /7 T



Correct Answer :-

e Visual / €T

22) What type of language theory focuses on the inborn capacity of infants to learn language? /

areT HEa & v Rt § Serena awar W e veR 1 o Rguia e w2
1. Behaviourist theory / TgaerR f&gia
2. Nurture theory / GiyoT g

3. Instinctual theory / @gsl g

4. Nativist theory / TEol TAdGT Bgid

Correct Answer :-

« Nativist theory / Hgol STIdier fagid

23) A detailed information about the individual’s ancestry is collected when the following
method is used to measure personality. /| SI§ cqfFdcad HI A & fav s R Fr 39Ar
frar strar @ A swfFa i gurEeh & TR F v RBeqgd TEER THT g AT B

1. Interview / HI&TTchY
2. Case History / & @&l
3. Projective tests/ W&ICT TI&TOT

4. Questionnaires/ STl

Correct Answer :-

. Case History / & f&&)

24) If the teacher has to know about the students’ strengths and weaknesses before the
instructional materials are organized, the teacher should conduct: /

I et 1 Facas THAANAT F Jaeyd F T T8 SEr Y afgaar iR
FAANRAT & R H AT ¢, ar RNaTF A F FT o= T TR

1. Summative Assessment / HRTTRIA HedTehel
2. Diagnostic Assessment / SiGTTeidh EFJ?«’:I'IEF[
3. Interim Assessment / 3IdRHA HedTehel

4. Formative Assessment / TdlcHD Hodlhed



Correct Answer :-
» Diagnostic Assessment / ErAIB G ?FLFJIEFT

25) The creativity of the child can be most appropriately brought forth by giving in
the class. / F&T H & T3 Y [WAHSAT H 3T T F AT AT AT FFHAT
gl

1. Homework / W

2. Notes / fecgforar

3. Impositions / 3TRgoT
4. Assignments / H'EIEJ?{QF[

Correct Answer :-

 Assignments / ﬂﬂﬂ%{ﬂ?

26) Visual problems get solved more comfortably than verbal problems, during which stage of
cognitive development? / 8T FHEATY HIf@F FHATAHT Y et 7 30+ 3IRH 9,
FAETCA® e & g Wor & R g g @ st €72

1. Concrete operational / ?Fj\?-rf AfPATcHS (hshic 3ITURRIAT)
2. Preoperational / fﬁff-'\':lmm (dTBmeIHF{)

3. Formal operational / 3/ HfhaTcA® (HidTel JHTUIAA)
4. Sensorimotor / TA&T Yeh (FEIHAI)

Correct Answer :-

» Concrete operational / E{ET HihaTcH® (e 3TURA)

27) What dilemma did Kohlberg present to children in his study on moral development? /

Fgaae o U Afaw FeFw & sreaasr § aeat F w0 gRer gwqa w2
1. Hector’s dilemma / g&reX & gfaer

2. Heinz’ dilemma / &1 &1 gfaer

3. Mary’s dilemma / 1 &1 gfarer

4. Henry’s dilemma / &eIXI &hr %ﬁf‘ﬂT

Correct Answer :-



 Heinz’ dilemma / & &I gﬁf‘iﬂ

28) Which of the following is least effective in educational implication of attention? /

farafaf@a & ¥ 71 cue & dfdys ARad & Rraas e &2
1. Theory talk / TG ard

2. Audio — visual aids / €T —H<T 3UIGTA

3. Gestures and movements / {Ta-#3aT 3R sifafafea

4. Incorporation of variety / AT TR

Correct Answer :-

« Theory talk / Rrgia aral

29) Aptitude tests are indispensable tools at the hands of to provide

educational and vocational guidance services. / ﬁﬁﬁ? Gﬁ? HATIHIRIS 'FITﬂE"\’h
491G UM H1 & g srfrgraar uderor @1 3ffvrard Iusr B

1. Teachers / T1&Tept
2. Friends/ f&31
3. Doctors / TRIThcHehi

4. Counsellors / TITEPIRT

Correct Answer :-

« Counsellors / HF«H%EEITI

30) Assessment results of a very strict yet effective teacher’s class are below

average. The factor that is impacting learners in this class is the -/ T dgd Gl
PSP Al YU e a1t & rpad & ufkunmH id A FH §1 I8 PRI Sl 59 H&
A Rranffal @ yvifad s w1 R, e &

1. complexity of the topic / fduxr &1 Sfeerdn
2. boredom of learners / f&mfdatT & ST
3. relationship between the teacher and learners / 18T 3Rk et & o gayg

4. relationship between new content and old content is not clear / I8 HTHAT 3R QTIT-ﬁ qrd &
9 G99 TUE G ©



Correct Answer :-

« relationship between the teacher and learners / f18Te 3R it & o dey

Topic:- General Hindi (L1GH)

1) Red cu-dgE st # AN U 1 FHfa H UF 937 agdd AT 1 SSeN-SNAT-aS-AER-wA 39
Fad AT AR dF WfAT A8 ¥ T 3/ 9RT F off & AT & 3uarey ¢ 3R 3 Y I ARG A ‘TET
TEPfa aarerr QY o F %o gAY T 7T 39 FE o &, I AR A-arer-wwr Iy e § IR wrRe
3 (U o) T aore off 93 ae F gF T9r ¥ 39 GRe §F F wOR, qEew oW w5 A afdw &
FHR A F& § AT aF ARG AEAS sgew T oA FA F AU sewrd ad @ g By e F
e 9 T F A FA-R-FA Toa-g¢ @l R @ 9% &) st e awhT F F§ T gwR Il o e
Ao &, afer are-frew F w5 Refa &7 &6 ¥ o #§ 918 a9 91 W@ 2

3YYFA ACITA F YT A QT AT woaT &1 3R qa=y :

YT FTET WEHfT el g2

1. gfRefT 9RA

2. GI&YOT AR

3. qdl 7IRd

4, X ARA

Correct Answer :-

o 5T AN
2) T & A,

Q& g,
&R Y At F 9wl F71 I
TF F A9,
QA F a4,
AE-ITE Ffe-FE grat F ¥ Hr al=m
TF HY AL,
QY # 7,
FIAR-gAR Wal @ A 7 o1
B FAT §?
3R @ Fo 7@ & Tw
Afgt & gl F1 I ¥ TF
gt & Tty ARAT ¥

si-rel-Heel AT 1 aor et §
iR § qIar A ot &
mtrganﬂaﬂir%wfrﬁmm

39T YSHIA F TgH A AT AT e FT IW q@BY -



YoT: GH FIT §7

1. et & Ul @1 Sig AR fhart & Ut &1 Bk aRe# gt
2.3 | PIS AL

3. hael T & FTAT T FOR TRAA

4. theel AT & U BT Mg

Correct Answer :-

o Al & urelr & Sig AR et & At & HoR aRise gt

3) U ¥ E,

Q& d,
& i ARt F 9 F:7 Sg;
TF & 4,
A F a4,
AE-aTE FfE-HE grat F ¥ Hr al=m
wF Fr 7L,
ar #r a4,
FIAR-gIR @l & AT F1 071

B FAT §?
At o Adt ¢ aE
At & urelt 1 I § IE
gt & waet y ARar ¥

sit-Freit-wael fedt #1 T W

T & qEor A Rort @
ﬁmganﬁaﬁﬂ%ﬁﬁﬁmm

39T TGN F GgHT A AT T wooT T 3w qAY ¢
vee: fhde 81 BUA I THT T4 872

1.ar &Yy

2.3AH ¥ PIg %

3. T By
4. PIfE-pIe TU

Correct Answer :-

. Pfe-PIfe @

4) TF F E,
ar & e,
& i ARt F 9t w7 g



wF F A9,

a*aﬁ!

qE-arE Ffe-Fife grat F vt fir Al
F FY 9,

ar & a7,
FTIAR-EIR @l & AT F1 07 0

T FAT §?

IR oA ¢ T
afgat & it F1 I ¥ 7%
grat & waet fr AR ¥

sit-Frel-wael fedt F1 T W

T § qxar A Bort &7

e gam s § g1 A A

39T TGIARM F TgHT Al AT AT woeT T I qABY ¢
W: BHA YN ¥ IHATF dcd AT §7

1. pdel Tl

2. el ATANT aRHH
3. hadl A Hr sdARD
4. ST GH

Correct Answer :-

o ISP T

5) tF & g,
ar & g,
& I Al F 9wl F71 I
wF F A9,
QA F A,
AE-aT" FfE-AE gt F T fr Al

TF A AL,
ar #r a1,
FTIAR-gIR @l & AT F1 07 0

wHA FT §?

IR oA ¢ T

afgat & it F1 I ¥ 7%

grat & Taet v ARAT ¥
sit-Frei-Hael fedt #1 T o
T § ot A ot @
ﬁmgm%iaﬁ%r%ema?rﬁmmm!

39T TGIARM F TgHT oA AT AT woeT T I qaAY ¢



TR BT ) WHT T A FaHT Qe @ar 872
1. el BIAT &

2. el PR URHHA &T

3. hadl AfGT ar

4. SURUh FHY BT

Correct Answer :-

o SWRE T P
6) UF & =g,

& & a4,
&R Y At F 9wl F71 I
wF F A9,
& F a4,
qE-ag FRe-FIfE grat F oot Fir afEm
F FT 4,
ar & g,
FIAR-gIR @l & AT F1 071
BT FIAT &2
At o Adt ¢ aE
At & urelt 1 I § IE
gt & waet y ARar ¥

srfi-wrelt-weeh e @1 aor e

T & qEor A Rort @
ﬁmganﬁaﬁﬂ%ﬁﬁﬁmm

39T TGN F GgHT A AT T wooT T 3w qAY ¢
esT: BT FT GHEYT ereg e & @ Fia-ar ad 272

1. ST

2. 35

3. 88d

4. BT

Correct Answer :-

7) & F oA,
ar & =,
&R Y At F 9wl F71 I



wF F A9,

a*aﬁ!

qE-arE Ffe-Fife grat F vt fir Al
F FY 9,

ar & a7,
FTIAR-EIR @l & AT F1 07 0

T FAT §?

IR oA ¢ T
afgat & it F1 I ¥ 7%
grat & waet fr AR ¥

sit-Frel-wael fedt F1 T W

T § qxar A Bort &7

e gam s § g1 A A

39T TGIARM F TgHT Al AT AT woeT T I qABY ¢

WoT: AT FT GAgard! eq §7?
1. e &

2. e I

3. el THTAT

4. ST GH

Correct Answer :-

o ISP T

8) & & i,
ar & g,
& I Al F 9wl F71 I
wF F A9,
QA F A,
AE-aT" FfE-AE gt F T fr Al

TF A AL,
ar #r a1,
FTIAR-gIR @l & AT F1 07 0

wHA FT §?

IR oA ¢ T

afgat & it F1 I ¥ 7%

grat & Taet v ARAT ¥
sit-Frei-Hael fedt #1 T o
T § ot A ot @
ﬁmgm%iaﬁ%r%ema?rﬁmmm!

39T TGIARM F TgHT oA AT AT woeT T I qaAY ¢



YeeT: W HT RAAH eg FAT §7?
1. 989

2. W

3. Tt

4. faga

Correct Answer :-

9) tF & g,

& a4,
&R Y At F 9wl F71 I
wF F A9,
QX &
Ag-ar@ FRe-FIfE grat F oot Hir afEm
F FT 4,
&Y #r a4,
FIAR-gIR @l & AT F1 071
BT FIAT &2
At o Adt ¢ aE
At & urelt 1 I § IE
gt & waet y ARar ¥

sit-Freit-wael fedt #1 T W

TR § qxar A Bort #7
ﬁmganﬁaﬁﬂ%ﬁﬁﬁmm

39T TGN F GgHT A AT T wooT T 3w qAY ¢

e ‘HH ueg T F F Fw {7
1 e

2. Efiferar
3.39H ¥ PS5 AL

4. 318

Correct Answer :-

10) U ¥ e,
QA ¥ a4,
&R Y Al F 9wl F71 I
TF & e,
QX &F a9,
ag-arg FRe-FIfE grat F oot Fir afEm



TF A AL,
ar #r 1,
FTIAR-gR Wl & AT F1 07

wHT F4T &2

I Fo Ad ¢ aw
ARt & urelt 1 I § IF
grat & waet fr AR ¥

sit-Frei-wael fedt F1 T W §

T § qxar A Bort &7

e gam s § g1 A A

39T TGIARM F TgHT Al AT AT woeT T I qABY ¢
TRE: ‘§AT FT AGHT UG FIA-AT 87

1. SRR

2. 584

3.

4. d

Correct Answer :-

11) & F €,
ar & e,
& I Al F 9wl F71 I
wF F A9,
ar & g,
AE-aT" FfE-AE gt F T fr Al

TF A AL,
ar #r a1,
FIAN-ER @l & AT F1 07 0

THT F4T &2

I Fo Ad ¢ Tw
ARt & urelt 1 I § IF
grat & Tt iy Afpem ¥

sit-Frei-Hael fedt #1 T o

TR § qxar A Bort &7

e gam s § g1 A A

39T TGIARM F TgHT oA AT T woeT T I qABY ¢

wRe: IOT HT AT reg FAT gII?

1. 37T



2. T

3.3 § PS80
4.iag<-|
Correct Answer :-
o 3qdur
12) & & ],

& g,
& I Al F 9wl F71 I
TF & AL,
ar & g,
AE-aTE Ffe-HE grat F ¥ Hr al=m
F FY 9,
ar & a1,
FTIAR-EIR @l & AT F1 07 0
T FAT §?
IRAFo Al ¥ aw
afgat & it w1 I ¥ TF
g1t & Tae iy AfgAT ¥

srfi-wrelt-weeh et @1 aor e §

TR § qxar A Bort &7
ﬁmgmﬂaﬁa%emaﬁrﬁmmm!

39T TGIARM F TgHT oAl AT T woeT T IR qAY ¢
W I HT AHH Asq FieT-AT §?

1. 1Y

2. ol&d

3.88d

4, T

Correct Answer :-

13) T F E,
QA F A,
&R Y Al F 9wl F71 I
wF F A9,
QX F g,
AE-aTE Ffe-HE grat F ¥ Hr al=m



TF A AL,
ar #r 1,
FTIAR-gR Wl & AT F1 07

wHT F4T &2

I Fo Ad ¢ aw
ARt & urelt 1 I § IF
grat & waet fr AR ¥

sit-Frei-wael fedt F1 T W §

T § qxar A Bort &7

e gam s § g1 A A

39T TGIARM F TgHT Al AT AT woeT T I qABY ¢

WeeT: g4l T GATgare ereg FIA-AT 7ET &2

1. drg
2. AR

3. Uded

4, A

Correct Answer :-

14) & F €,
ar & e,
& I Al F 9wl F71 I
wF F A9,
ar & g,
AE-aT" FfE-AE gt F T fr Al

TF A AL,
ar #r a1,
FIAN-ER @l & AT F1 07 0

THT F4T &2

I Fo Ad ¢ Tw
ARt & urelt 1 I § IF
grat & Tt iy Afpem ¥

sit-Frei-Hael fedt #1 T o

TR § qxar A Bort &7

e gam s § g1 A A

39T TGIARM F TgHT oA AT T woeT T I qABY ¢

9o UTeY oreg e #F ¥ &1 372

1. gfeelar



2. Giferar
3. 39T

R

Correct Answer :-

15) U & e,

ar & ad,
& I Al F 9wl F71 I
wF F A9,
a*aﬁ!
AE-arg Ffe-AfE grat F T fr Al
TF A AL,
ar #r g,
FTIAR-EIR @l & AT F1 07 0
BT FIAT &2
IRAFo Al ¥ aw
afgat & it w1 I ¥ TF
groit & wael i Afam ¥

sit-Frel-Hael fedt F1 T W

TR § qxar A Bort &7
ﬁmgmﬂaﬁa%ema?rﬁmmm!

39T TGIARM F TgHT oAl AT T woeT T IR qAY ¢
HeT: ‘BHA FAT 7 I€ [FH UFR FT a7 ¢ -

1. UHAdIIh

2. GFIEYATIDH

3. HATJdTdh

4. Fegard®

Correct Answer :-

16) Roe gw-dgg aut & gAY W 1 TP F vF 37 Jga@ AT 1 STN-SAT-TST-WIR-I[GH I Fa Sfavor

AR aF AT 78 T T 3T ART F ot T qe # 39aey § AR I3 A IW ARG A TET FEHA ATIHT R
& & e TR B1 I T FE o g, I ARAT Ad-grer-Amr srawr Aer € TN BRE §F (T HSE) F T
ft 73 ol ¥ gF 997 ¥ 59 GRe §F H R, qEew Rft 7 A affw §) wF gwm F Fo & AW aw @ifa
AT qEew T FHAA: Rl F AT o ad W T Py JEew F e 9 W ¥ O FA-A-FH qea-g weft
TR & 9% & s TE aFhT F 7§ T vHR I’ g o Ao @, afF st ¥ #§ ReRa v ash
¥ W H S TS AT R



39YFA TSR FY YGHFT AN AT 7T o FT I q@SY
wemr: Ro Rt ast § G w-aT # TEphy aaeh §7
1§  PIE

2. H-Ugg auf &

3. q1-die auf |

4, IR-UTT qui &

Correct Answer :-

. CH-Uge auf ¥

17) Rod gu-use auf # g TS T FFFfA A TF 9357 TGAT AT ¥1 IS -SNAT-TS-HIR-THA 3T FaeT GIa¥or

HRa % AT 7 ¥ T I 4RG F ot W e A 3yeey § 3T I3 A IR ARG A TET FEHA ATHT QU
&er 7 e g B1 39 T FE o g, IW AT Ad-grer-Amer I e § TN BRe $F (A HS) F AT
st a3 o ¥ §F 991 ¥ 39 ‘GRc §F' H R, qEow AW w5 Aid affw &) w qwm 7 o & AW aw @
AT FqFew T WHAG: el F AT 3o 79 W) g Peew Tow & Y 9 w9 F O FA-4-FH qea-gg wi
TRfFa & 9% & s TE 7R F 7§ TWET vFR I’ aw s Aleg @, afF are-Rew F #§ Refa v ash
¥ - F ST S o @ P

ITLET AT F TGHF AT BT AT woT F IR T
TeoT: BRE %8 F1 7Y FAT 87

1. #HraT HIsT

2. NTdT ¥ TR fRaT STl aTell Aol

3. 37Ah ST

4. Ugsl A UhIhT T@T AT Aiaiel

Correct Answer :-

o Mear ¥ IR AT S arerr Hiad

18) Rod qu-vae auf # §AN WU T FEFIA A TF 31 TGAT AT 1 FSN-SHAT-TS-HIR-THA 3T Fael giawor

AR aF AT 78 81 ¥ 3T aRa F ot §T g F 3ueew ¥ IR T A W ARG F IrEr FEHfA qIT R
& & e Y B1 I T F o &Y, I AR Ad-grer-Amer g e § TN BRe T (A HSE) F oA
it 3 ot ¥ §F 997 ¥ 39 ‘GRe §F A R, qEew AW w7 A9 e &) w gwm F Fo & AW aw @
ARANST qEew T FHAA: Flt F AT o Ag W T Moy TEow & e 9 w9 ¥ O FA-A-FH qed-gg @l
Rfaa & 9% &) st atg dhT F FF TUET TFR el aF e Al &, AfF ne-few ¥ #% e v ash
¥ TR F 918 T ST @ B

39T AGIIT F TGHT A T 7T gea7 F7 3 qasy :
TR ‘HAAAr FT 3 F4T ghar §7?

1. 3T

2. AR



3. pfod
4. gRfAa

Correct Answer :-

19) Ao qu-vag aut ¥ gAY WU T GEHfA A TF 37 TGATT AT 1 FSN-SNAT-TS-WIIR-THHA AT Fder gfavor

AR aF AT 78 T T 3 ART F ot T qe # 9oy § AR I3 A IW ARG A TET FEHA AT R
& & e TR B1 I T FE o g, I ARAT Ad-grer-Amr g Aer € SN BRE $F (T HS) F T
ft 3 ol ¥ gF 997 ¥ 39 GRe §F H R, qEew Rft 7 A affw §) wF gwm F Fo & AW aw @ifa
AT FqEew T FHAd: Rl F AT o ad W T Py JEew F e 9 W A O FA-A-FH qed-g weft
TR & 9% & s TE aFhT F 7§ T vER I’ g o Ao @, afFe e ¥ #§ ReRa v ash
¥ - A 8 T A1 W@ B

39YFd TSR FY YGHFT AN AT 7T oA FT I qASY ¢
Yol ‘R §3' A AT anfAer 872

1§  PIE

2. 9 3R Eew et

3. $ad IR

4. had el

Correct Answer :-

« TR IR Fgeq =

20) Rod gu-vgE aut # AN I A FEHIA A TF 957 TEAT AT §1 SN -SNA-TS-HIR-THA 3T Fael Giayor

ART aF AT 7 T T 3T AR F ot g Ae A 9oy § AR I3 A IW ARG A TET FEHIA ATIHT R
& # e g §1 3T T FE o @, I AR VA Jaw B & TN TRE T3 (G o) FoTeT
it 3 ot ¥ gF 997 ¥ 39 ‘GRe §F' A R, qEow AW FF Aid affrw & w qwm 7 Fo & AW aw @
AT FqEew T FHAA: el F AT o 79 W) T Peew TEow F Y 9 w9 F O FA-9-FH qea-gg wi
TRiFT & 9% &1 5 TE 7R F F§ TET vH5R I’ g o Aleg @, AfF ey F % Refa v st
¥ W # 9% T4 o @ T

39YFA TSN FY YGHT AN AT 7T o HT I TSy :

W BRE §3' Wee T F ¥ F4w 82
1. faeel
2. dcdA
3. dqd

4. ST

Correct Answer :-



21) Moo qw-vge a9t # AR WU Y P A UF T37 TGAT AT §| SCN-SNAT-AST-WI-THHA 3T Ao gfavor
HRA aF WA ¥ ¥ 3 AT F #ff §T ae A 3ucey § AN T A IW ARG A ‘AT WEPA dTIHAT Q

& & e TP B1 I T FE o @Y, I ARAT Ad-grer-Amr g Aer € TN BRE T (T HS) F TS

ot 93 el ¥ §F 991 ¥1 39 ‘BRe §F A T, q3ew AWM FF Ao AT ¥ vF FHR F Fo @ &9 aw g

AT FqEew T FHAA: Rl F AT o ad W T Py JEew F e 9 W ¥ A FA-A-FH qed-g weft

TR & 9% & s TE a9 F 7§ T vER I’ g o Ao @, afFe st ¥ #§ ReRa v ash

¥ T-EX A ST S S @ E

39YFd TSR F YGHFT AN AT 7T oA FT IO q@SY

9ea: 3¢l Fgl T HoreT &7

1. e IR

2. Sf&0T ARG

3. qdt R

4. 37 AR

Correct Answer :-

. GITOT $IRA

22) Rod qu-uge aut # AN U A GEHIQ A TF 957 TEAT AT ¥ SN -SNAT-TS-HIIR-THA 7T FI Gla¥or
HRA aF WA 7 ¥ ¥ 3 aRa F oft &7 ae A 3ucey § AN T A IW ARG A TEr WEHA T Q

&er 7 e g B1 39 3T FE o &Y, IW AR Ad-grer-Amer g e § TN BRe $F (A HS) F AT

st 3 ol ¥ §F 991 ¥ 359 ‘GRe §F' H R, qEow AW FF AiG affw &) w qwW A Fo & AW aw @

‘AT FqFew HT WHAG: el F AT o 79 W) T Peew TFow & Y 9 w9 F O FA-9-FH qea-gg wi

RET & 9F &1 s T d7hT & 7§ TIT v R el aF o Al o, A are-Rew ¥ #% R w0 ash

¥ W-EX F ST IS ST @ E

39YFA TSN FY YGHFT AN AT 7T o FT I q@BY :

weoT: gAY P Wegfa F qu-dae ant & as1 wRader amar §72

1.3 ¥ PIS el

2. ¥el

3. gddd

4. Wlel-Ulel

Correct Answer :-

23) Rod qu-dee aul # gAY WEA A GEHfA H U 37 qgAE HAT B ISN-SNAI-IS-WIIR-THH H Faer gfavor
AT aF AT 7 1 T 3T AR F ot g A A 9oy § AR I A ITW AR A TET FEHIA AMIHT R
&er & e Y B1 I T F o &Y, I ARAT Ad-grer-Amer g e § TN BRe T (A HS) FoTAdT



it 73 ol ¥ gF 997 ¥ 59 ‘GRe §F H R, qEew KA 7 A9 e §) wF gwm F Fo & AW aw @fa
AFANST qEew T FHAA: Rl F AT o ad W T Py GEew F e 9 W ¥ O FA-A-FH qea-gg @l
R & 9F & s T dTHhT & F$ TIET TR el aF s Al &, A sreRew ¥ #% R w0 ash
¥ - H S8 a1 o @ 8

39GFd TSI F YGHFT AT AT 7T oA FT IO q@TSY ¢
wee: Epfar &1 Wit faede ghem?

Correct Answer :-

24) Rod qu-vge aul # FAN WU i GEFHfQ H U 37 qedAT AT 31 ISAI-SIAT-IS-HIR-THA 3 Haer gfavor

AR a% AT A8 1 ¥ 30 ARG F ot g0 4 F 3uoey § 3R 39 aF I ARG T TAT FEHA ATHT X
& & e TP B1 I T FE o g, IW ARAT Ad-grer-Amer srgwr Aer € TN BRE §F (T HSA) F TS
it a3 el A G TOT B1 3W ‘BRe §F' F TR, qEow AW FF NS afdw §1 vF IR A Fo & @6 a5 DT
‘AT Fqsew W WHAG: el F AT o A W) T Peew Touw & Y 9 w9 F O FA-9-FH qea-gg wi
TRfFa & 9% & s aE aFhT F F§ T wFR I’ g o Aleg @, afF Ry F #% ReRa v ash
¥ W H S q1d S W@ T

39YFA TSN FY YGHFT AN AT 7T o FT I q@BY -
wea: ‘¢ fee @1 e REY & 7 ghem?

1. au fAae

2.a foee

3. e fAae

4. T fAde

Correct Answer :-

. o e

25) Rod qu-dee aul # gAY WEA Y GEHfa H U 37 qgAE HAT B ISN-SNAT-IS-HIIR-THH H Faer gfavor

ART aF AT 7 T T 3T AR F ot g A A 9oy § AR I A I AR A TET FEHIA AMIHT R
&er & e Y B1 3 T F o g, I AT Ad-grer-Amer g e § TN BRe T (A HS) F oA
it 3 ol ¥ gF 997 ¥ 59 ‘GRe §F' A R, qEow AW w7 Aid e & w gwm F Fo & AW aw @
AT FqEew HT FHAA: Bl F AT o 79 W T Moy TEow & e 9 w9 ¥ O FA-A-FH qea-gg wi
TR & g% ¥ 5 W a7hT F F§ TWUET vH5R I’ g s Aleg @, AT ey F % Refa v ash
¥ W H A€ a1 o1 @ 2

39T ACIRT H TgHT A T 7T gea7 F7 3 qa@msy :



weaT: et & @ wia-wr gfdvor sy saee AE 87
1. 38qH
2. HI
3. 314

4. FTT

Correct Answer :-

26) Moo qw-vge aut # AR WU Y EFHIA A UF T37 TGAT AAT §| SSCN-SNAT-AST-WI-THA 3T Ao gfavor
HRA aF WA 7 ¥ ¥ 3 AT F #ft §T ae # 3ucey § AN T A I ARG A ‘TET WEPA dTIHAT Q

& & e TP B1 I T FE o g, IW ARAT Ad-grer-Amer g Aer € TN BRE $F (T HSE) FoTAT

ot 93 wedl F gF 991 ¥1 39 ‘BRe §F A T, qew AWM FF A T ¥ vF FHR F Fo § &9 aw g

‘AT qEew T FHAA: Rl F AT o ad W T Py JEew F e 9 W ¥ A FA-A-FH qea-g weft

TR & 9% & s TE aFhT F 75 T vER I’ g o Ao @, afFe sy ¥ #§ Refa v ash

¥ T A 9T S S @ E

39YFA TSR H YGHFT AT AT 7T o FT I qa@SY -

Hee: 3 HRAT aiel 87

1. hael T

2. hdol Glel

3. hdol T

4. 3Uh G

Correct Answer :-

o WP T

27) Rod qu-tge aut # AN @I A GFHfA A TF 9357 TEAT AT §1 SN -SNA-TS-HIR-THA 7T FIA GIaor

ARA aF AT T T T 3T AR F ot g Ae A 9oy § AR I3 A IW ARG A TET FEHIA AMIHT R
& # e g §1 3T T w1 o @, I AT Ad-ara-Anr Iaw B & TN TR T3 (G o) FTeT
it 3 ol ¥ @7 997 ¥ 30 ‘GRe §F' A TR, qEow AW FF A e & w qwW F Fo & AW aw @
AT FqFew HT FHAA: et F AT o 79 W) T Peew TEow & Y 9 w9 F O FA-9-FH qea-gg wi
TRfFT & 9% &1 5 e 7R F F§ TWET vHFR I’ g o Ao @, AT are-Rew F % Refa v ash
¥ W H € a1 o1 @ 2

39YFA TSN FY YGHT AN AT 7T o FT I q@BY :
weeT: WA &1 faas ereg Far gen?

1. 3Telfpa

2. HEEY

3.3 1A



4. g

Correct Answer :-

28) Rod gu-vge aut # AN U A FEHfA A TF 9357 TEAT AT ¥ SN -SNA-TS-HIIR-THA 3T Fae Glayor
AR a% AT A8 1 ¥ 30 ARG F ot g0 4 F 3ueey § 3R 39 aF 3T AR T TAT FEHA ATHT X

& & b gAY §1 3T T FE o g, IW ARAT Vdr-arer-Anr JaH B € TN GRE §F (G HSA) F Ted

st a3 el A G TOT Bl 3W ‘BRe §F' A TR, qEow AW FF NS e F1 vF IHR A Fo & a6 a5 DT

‘AT Fqsew I’ WHAG: el F AT o AE W) T Peew TEow & Y 9 w9 F O FA-9-FH qea-gg wi

TRfFa & 9% & s TE aFhT F F§ T vHR I’ g o Aleg @, afF sty F #% ReRa v ash

¥ W A 91 T3 o W@ &

39YFA TSR FY YGHFT AN AT 7T o FT I q@SY -

Yo e F YGH dF ¢ AR e fF Frar @wpia fw qur A @2

1. ST

2. 37T

3. UTfehETeT
4. feegEar=

Correct Answer :-

29) Rod qu-vee aul # gAY WEA # GEHfA H U 37 qgATE HAT 71 ISN-SNWI-IS-WIIR-THH H Fger gfavor
ART aF AT 7 T T 3T AR F ot g Ae A 9oy § AR I A IW AR A TET FEHIA AMIHT R

& & e Y B1 3 T F o &Y, I AT Ad-grer-Amer g e § TN BRe T (A HS) FoTAT

it 3 ol ¥ §F 997 ¥ 59 ‘BRe §F' A R, qEow AW FF Aid affrw & w qwm F o & AW aw @

AT FqEew HT FHAA: el F AT o 79 W T Moy TEow & e 9 w9 ¥ O FA-A-FH qea-gg wi

AT & TF &1 s T TR & F§ T W R 3l aw o A o, A are-frew ¥ w% R w0 ash

¥ "-E F 918 TS ST @ S

39T ACIRT H TgHT A T 7T gea7 F7 3 qa@sy :

We: T AW K FlT G o F& AW aF @ AT ar?

1. faRre

2. TSIl ol
3. Glhell

4. 3UAT

Correct Answer :-



30) T&H & A%,

a F 8T,

&R AR AT F I F Mg
TF & e,

QA F AL,

AE-arE Fife-Fife grat F Tt A IR
TF H AR,

aY #r g,
FIAR-gAR Wal #T fAgdY F1 o1 et
wHT T &7
IRar Fo Al ¢ aE

Afgat & ueh #1 5g ¥ 7%

g1at & Tuel i Afgar #

sTt-rel-weelt fAedt @1 aor e &

T § {IST Y FRoi @

faerer gam @@ & g1 H RAHA F

3YYFT TSI P TgHT A QU a0 geeT &1 IW IASY -
weet: e & fow ot i gosr wwarar 82

1. faed

2. BHe

3. d1dT

4, AfeAT

Correct Answer :-

Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

If we leave our doors --locked, our houses are liable to be burgled.
1. inter--
2. over--
3. pad--

4. un--



Correct Answer :-

s un--

2) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterfiies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson

What does the poet most likely mean by the word "token" in the given line?
"By all these lovely tokens September days are here, "

1. days
2. days
3. people

4. signs



Correct Answer :-

« signs

3) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson

What does the poet most likely mean by "golden butterflies” in the given line?

"At noon the roads all flutter With golden butterfiies. "
1. Valuable plants growing on the side of the road.

2. Gold-coloured cars driving down the road.

3. Golden leaves falling onto the ground.

4. Golden coins falling from people’s pockets.



Correct Answer :-

« Valuable plants growing on the side of the road.

4) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer.- By Helen Hunt Jackson

What seasonal change does the poem focus on?

1. The change of season from autumn to winter.
2. The change of season from winter to spring.
3. The change of season from summer to winter.

4. The change of season from summer to autumn.



Correct Answer :-

« The change of season from summer to autumn.

5) Read the poem carefully and answer the question given below:

The golden rod is yellow;
The corn is turning brown;
The trees in apple orchards

With fruit are bending down.

The sedges flaunt their harvest
In every meadow nook;
And asters by the brookside

Make asters in the brook.

From dewy lanes at morning
The grapes’ sweet odors rise;
At noon the roads all flutter

With golden butterflies.

By all these lovely tokens
September days are here,
With summer’s best of weather,

And autumn’s best of cheer. -By Helen Hunt Jackson

How does the poet most likely feel about the month of September?

1. He probably thinks September is too cold.
2. He probably dislikes September.
3. He probably does not feel strongly about September.

4. He probably likes September a lot.



Correct Answer :-

« He probably likes September a lot.

6) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a pacemaker
that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik
pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a
purse or on a bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to
the doctor’s office. If patients experience scary symptoms, they can wave a magnet in front of their
chests to prompt an immediate transmission. Slightly costlier than traditional pacemakers - it
averages about $60000 - the Biotronik pacemaker is available now. For more info, visit
biotronik.com.

How is the pacemaker devised by Biotronik different from other pacemakers?
1. It is easier to replace

2. It is cheaper

3. It is smaller

4. It can fax daily reports

Correct Answer :-

It can fax daily reports

7) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a pacemaker
that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik
pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a
purse or on a bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to
the doctor’s office. If patients experience scary symptoms, they can wave a magnet in front of their
chests to prompt an immediate transmission. Slightly costlier than traditional pacemakers - it
averages about $60000 - the Biotronik pacemaker is available now. For more info, visit
biotronik.com.

What is the cost of the Biotronik pacemaker?
1. $50000
2. $20000
3. $60000

4. $30000

Correct Answer :-



« $60000

8) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a pacemaker
that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik
pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a
purse or on a bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to
the doctor’s office. If patients experience scary symptoms, they can wave a magnet in front of their
chests to prompt an immediate transmission. Slightly costlier than traditional pacemakers - it
averages about $60000 - the Biotronik pacemaker is available now. For more info, visit
biotronik.com.

What must the patient do when dangerous symptoms are noticed while wearing the Biotronik
pacemaker?

1. Push a button in the transmitter
2. Wave a magnet in front of the chest
3. Raise the voltage of the transmitter

4. Shake up the transmitter

Correct Answer :-

» Wave a magnet in front of the chest

9) Read the following passage and answer the question given below:

Pacemakers are secretive little devices. A cardiologist must see a patient to know whether the
machine is really doing its job. Now a German company called Biotronik has developed a pacemaker
that clears up the mystery: It faxes daily reports to the doctor. A computer chip in the Biotronik
pacemaker tracks heart rhythm and the number of jolts delivered. Patients keep a transmitter in a
purse or on a bedside table. It forwards the details to Biotronik, triggering the delivery of a fax to
the doctor’s office. If patients experience scary symptoms, they can wave a magnet in front of their
chests to prompt an immediate transmission. Slightly costlier than traditional pacemakers - it
averages about $60000 - the Biotronik pacemaker is available now. For more info, visit
biotronik.com.

What are pacemakers?

1. A grafted valve in the heart
2. An artificial limb

3. A neurological device

4. A cardiac device

Correct Answer :-



e A cardiac device

10) Choose the appropriate pronouns for the given sentence.
Radhika interacts with customers from____ house.
1. he, his

2. she, their

3. their, their

4. her, her

Correct Answer :-

11) Fill in the blank with the correct option in the given sentence:
I’m afraid the manager is at the moment.

1. availing

2. availed

3. unavailable

4. unavailability

Correct Answer :-

e unavailable

12) Which of the following options best combines the following sentences?
The student was helped by the teacher. He made good progress.

1. Having the teacher helping the student, he made good progress.

2. Being helped by the teacher, the boy made good progress.

3. Good progress was made by the student as the teacher was helping him

4. Because the teacher helped him, so the student made good progress.

Correct Answer :-

» Being helped by the teacher, the boy made good progress.

13) Choose appropriate articles for the given sentence:



tribal people of some parts of Madhya Pradesh practise unique subculture which
is beauty of multiculturalism of India.

1. The, a, no article required
2. The, no article required, a
3. A, 3, no article required

4. The, a, the

Correct Answer :-

e The, a, the

14) Choose the appropriate option that rewrites the given sentence in its passive voice.

Ram gave a glass of water to the beggar.
1. The beggar was given a glass of water by Ram.
2. The beggar is given a glass of water.

3. The beggar is given a glass of water by Ram.

4. The beggar got a glass of water from Ram

Correct Answer :-

¢ The beggar was given a glass of water by Ram.

15) Choose the appropriate synonym for the highlighted word in the given sentence.

Some people stand out for their gallantry.
1. callousness

2. clout

3. eccentricities

4. courage

Correct Answer :-

e Courage



16) Choose the appropriate tenses to fill in the blanks in the given sentence:

Vishnu to work in Japan, so he Japanese.

1. will want, will learn
2. want, will have learned
3. wants, is learning

4. is wanting, learns

Correct Answer :-

» wants, is learning

17) Choose the appropriate antonym for the highlighted word in the given sentence.

The boss disliked her recalcitrant attitude.
1. erratic

2. intuitive

3. compliant

4. unruly

Correct Answer :-

e compliant

18) Choose the appropriate prepositions for the given sentence:

He was prison a crime that he had not committed.
1. into, by

2. in, for

3. in, with

4, at, for

Correct Answer :-



19) Choose an appropriate modal for the given sentence:

If you are travelling internationally, you carry your passport with you.
1. could

2. would

3. must

4. might

Correct Answer :-
e must

20) Choose the option that best explains the highlighted expression:
I was completely wrong, and now I have egg on my face.

1. embarrassed

2. repenting

3. insulted

4. suffering

Correct Answer :-
e embarrassed

21) Choose the option that best transforms the sentence into its Indirect form:

I said, “Can the children get tasty meals at school?”

1. l asked if the children can they get tasty meals at school?
2. | asked if the children could get tasty meals at school?

3. l asked if the children could get tasty meals at school.

4. | asked if the children can be getting tasty meals at school.

Correct Answer :-

o | asked if the children could get tasty meals at school.

22) Choose the option that substitutes the given phrase appropriately.



A list of things to be settled at a meeting
1. Minutes

2. Reference

3. Issues

4. Agenda

Correct Answer :-

23) Report the following dialog and change to Indirect form:
Sam : Doctor, I am not feeling well today.

Doctor : Why? What happened?

Sam : My throat is paining and I think that I have fever.

1. Sam told doctor that he is not feeling well that day. Doctor enquired what had happened. Sam replied that he
had throat pain and he thought he had fever.

2. Sam told doctor that he is not feeling well today. Doctor enquired what had happened. Sam replied that he
has throat pain and he think he has fever.

3. Sam told doctor that he was not feeling well that day. Doctor asked what had happened.sam replied that his
throat is paining and he thinks he has fever.

4. Sam told doctor that he was not feeling well that day. Doctor enquired what had happened. Sam replied that
his throat was paining and he thought he had fever.

Correct Answer :-

» Sam told doctor that he was not feeling well that day. Doctor enquired what had happened. Sam replied that
his throat was paining and he thought he had fever.

24) Read the sentence carefully and choose the option that has an error in it:

My father caught my brother red-handed with a cigarette on his mouth.
1. my brother red-handed

2. with a cigarette

3. on his mouth.

4. My father caught



Correct Answer :-
e on his mouth.

25) Read the sentence carefully and choose the option that has an error in it:

In spite of its small size, these cameras take very good pictures.
1. take very good pictures.

2. In spite of its small size

3. these cameras

4. No error

Correct Answer :-
e these cameras

26) Choose the most appropriate determiner for the given sentence.

Everyone should have a check-up with the dentist _ six months.
1. all

2. each

3. another

4. every

Correct Answer :-

27) Choose the appropriate conjunction for the given sentence:
His plans, vast, were never visionary.

1. but

2. and

3. were

4. though



Correct Answer :-
» though

28) Fill in the blank with the correct option in the given sentence:

The factory has an air puri-- plant to provide clean air for its workers.
1. --est

2. --fication

3. —ify

4. --ness

Correct Answer :-

» --fication

29) Fill in the blank with the most appropriate preposition in the given sentence.
When it started to rain, we went the house.

1. onto

2. towards

3. under

4, into

Correct Answer :-

30) Choose the right tag:

We ate a marvelous supper last night, ?
1. didn't we

2. haven't we

3. can we

4. don't we



Correct Answer :-

o didn't we

Topic:- Social Science (SSC)

1) FDI stands for .| THSI3ATE, e U gl
1. Financial Development Institution / Cﬁlmﬂ?{ STAUHC W‘\’l?—f

2. Financing Data Initiative / B8 1497 3T 3fafAufea

3. Foreign Direct Investment / B 38 SATCHT

4. Forex Directorate Institution / BR&EH SISIFCRCT 3@?\?{?]?—[

Correct Answer :-

« Foreign Direct Investment / BRA I[SIaC SATCHC

2) Who stated that, ‘Grades cause an emotional reaction, either positive or negative. Feedback
causes you to think and engage, which is reflective learning’? /

fpua 81 f, U8, T HaaTdHS Ulafehar Saud &3dT 8 Sl a1 df AP RIS T
TPRIHP &l TobdT & | Ufagfd (Fleaw) s Heq iR oo 3@ § el $1 g,
il fRia=ite Rrem g 12

1. Dylan Wiliam / 3Tel faferast
2. Paul Black / Ofef El\ﬁ?ﬁ

3. Charles Beard / EI'I?»‘IH IERE)

4. Miller / foTeR

Correct Answer :-

« Dylan Wiliam / 31TeleT faferga

3) Which Constitutional Amendment Act lowered the voting age from 21 to 18 years? / m

Hautfe dxneF siftfaa # AdeM 1 3mg 21 | geray 18 a9 &2 &f 713 42
1. 61 /619

2. 62M /629

3. 661 / 669



4. 64th / 649

Correct Answer :-

. 61t /619

4) Which among the following are key faunal species that is being conserved and monitored in

‘Dachigam National Park'? / fAEfIfaa & @ &1 <t Uq 9 u] waTtaal g, foreT ‘g
TP S § W& 3R g faar o 182

1. Golden Oriole / M3l NRIT
2. Hangul or Kashmir Stag / %‘ﬂ?f 1 HARY feIoT

3. Yellow-throated Marten / TRIaTel

4. Musk Deer / Ehw ﬁRT-T

Correct Answer :-

« Hangul or Kashmir Stag / W g7 HRARYT fexor

5) Which Commission recommended that appointments of Governors should be strictly non-

partisan? / mmﬁmﬁ%mﬁﬁgﬁlﬁﬁmﬁu&mﬁﬂﬁ
g anfge?

1. Malimath / FATfHAS
2. Thakkar / 3hehl

3. Sarkaria / GIPIRAT
4. Punchhi / g&T

Correct Answer :-

« Sarkaria / GIRIRAT

6) Which school of philosophy propagated Project method of teaching? / E'SITT-I'EZ'I'IW ¥ fo faemea
= Rrgror #Y ufaer ugfa o1 v=R fear

1. Naturalism / Gepfaare,
2. Pragmatism/ SIdgRdIq
3. Constructivism / {ITdIq



4. Existentialism / 3T&dcadrg

Correct Answer :-

« Pragmatism/ SIdgRdIq

7)  Match List-I with List-IT and select the correct answer using the code given below the Lists:

List-I(Text) List-II{Author)
A Kitab-al Hind 1.Ibn Battuta
B_Eihla 2 Al-Biruni

C Humasun Nama | 3 Lahori
I) Badshah Nama | 4 Gulbadan Begum

- 11 & e - 1 &t fAermsr & IR et & ot lGw a1 i &1 3adher e |61 3cck
T

FE-I(ETT) T -1 (e )
A Tohdre-31e fgeg | 1. Seo aqar
B. Rgar 2. HA-TaEAr
C. ‘g‘ﬂﬁ':r:arm 3. IRIRT

D. STGME ATAT | 4. I[efdeet 31

1. A-3,B-4, C-1, D-2
2. A-3,B-1,C-4,D-2
3. A-2,B-4,C-1,D-3
4. A-2,B-1,C-4,D-3
Correct Answer :-

« A-2,B-1,C-4,D-3

8) ‘Sustainable Development Goal’ is the universal action plan to end poverty and protect the planet
and ensure peace and prosperity. ‘Climate Action plan’ of SDG is in which goal among 17 goals? /

Tad e dea T & Tura $1 iR U8 o1 &, Fifd 3R 9gfe gfifda #1 & e
e Hrd Do 81 TSl o1 'Saarg SR aeEr 17 d8a § A S 91 967 82

1. Goal 17 /1&g 17

2. Goal 13 / o1& 13

3.Goal 11 /e8I 11



4.Goal 1l /ol&d 1

Correct Answer :-

e Goal 13/1&T 13

9) The primary source of data is: / 3T &1 WY® wia %:
1. Biographies / 3TcaBATY (STITATH)

2. Bibliographies/ &d<h Q{i%I'EIT (FSaferaramdr)

3. Commentaries and treatises / Iel-fevaforar 3R 3fTer@

4. Proclamations / YUY

Correct Answer :-

« Proclamations / ETYUTT

10) The Andaman and Nicobar Islands are submerged parts of the mountain range called ./

A R PR GUTHE __ vdd §aan & JTawy HITE |
1. Arakan Yoma / 3RTehTeT AT

2. Askai Chin / 3781S R

3. Pegu Yoma / U3 AT

4. Tien Shan / fa=r e

Correct Answer :-
« Arakan Yoma / 3RTehTel JTAT

11) What is not true about the art and architecture of temples of Khajuraho? / @srmer & #fe:}
# Fell AR aEgHer F AT & F1 I A §?

1. Khajuraho temples contain erotic art inside the temple. / @Xrer #fERT # A F 3T FHrHS el
Heafde Bl

2. Temples were made of sandstone. / #EGT T3 T & a4 |
3. It was built in Nagara style of architecture. / 38§ aregehelr & HamsT Aelt H TART I=AT AT

4. The columns and architraves were built with megaliths. / ¥H 3R aT&ﬁ]?q Ofery § &Y Y
|



Correct Answer :-

« Khajuraho temples contain erotic art inside the temple. / TRl #EI & HARRI & 37T FAD Holl
Heafdae gl

12) Which of the following site is famous for stupas, monasteries, temples and pillars? /

ffaf@a & ¥ #l7 @1 wra Ty #6), AR it wut & fw afigy §2
1. Khajuraho / @s[{r@t

2. Ujjain / 3ot

3. Vidisha / fafgem

4. Sanchi , @Y

Correct Answer :-

« Sanchi , @r=h

13) The author of famous Gita Govinda, Jayadeva was court poet of: / yfagyr “dfiq Mfdg” &
AGH, SIYET FIh GIaNT Hfa &

1. Lakshman Sena of Bengal / Soel & ol&#H0T A
2. Prithviraj Chauhan / gedRTsT aige

3. Gopala / nurer

4, Harsha / &§

Correct Answer :-

 Lakshman Sena of Bengal / @9Tel & &I&HUT A

14) Article 356 of the Constitution is related to the imposition of rule in the state. /

HfarTeT 7 reTeog 356 fret T AT W19 ¥ W Ha T g
1. President’s / TI'E'CI'%

2. Chief Minister’s / HEIHAT

3. Prime Minister’s / TETTHAT

4, Governor’s / Tl

Correct Answer :-



« President’s / rgufa

15) What is the percentage share of agriculture in GDP during 2013— 14? / 2013-14 % g,
ShEdt F FR 1 afera e FTe?

1. 15.9%
2. 13.9%
3. 10.9%

4.20.9%

Correct Answer :-

e 13.9%

16) RBI is considered as the lender of last resort for . / 3TSAITS Y & faw
AN FHeigrdar AT 1T B

1. The cooperative banks / TEHRT et

2. The Regional Rural Banks / 8131 10T Sfept
3. The commercial banks / ATfOTfoae® i

4. The Government / HIhIX

Correct Answer :-

« The commercial banks / aTfOT oI i

17) In which language was Rajtarangini written by Kalhan? / FegoT of TsTaR [arofY e e &
fod g2

1. Prakrit / UTehd
2. Devnagari / a9

3. Sanskrit / TER
4. Pali / OTell

Correct Answer :-

« Sanskrit / §Epd



18) In which year the NEP was introduced? / Te$dl ey a¥ & & oy 71§ o2
1. 1991

2.1992
3. 1990

4. 1993

Correct Answer :-

» 1991

19) Who among the following did not belong to the group of ‘Moderates’ in the formative phase

of the Indian National Congress? / RFafaf@a # ¥ #ia sy AT HTIT & IRIAS 0T H
TRAIAIT & T F WA agr I?

1. Gopal Krishna Gokhale / 3TqTer HsuT Mol
2. Dada Bhai Naoroji / GTI&T T8 RIS
3. Bal Gangadhar Tilak / &TeT IR faeld

4, Surendra Nath Banerjee / 11'17;{ AT TAoiT

Correct Answer :-

« Bal Gangadhar Tilak / 9Tef I9MER el

20) Who is a person who holds an office, not because he/she is elected to that post, but by virtue
of the fact that he/she holds another office called as? / dg Fla=aFa % I TF FRTHT H FY
FAT 8, AT 781 & a8 39 ug & v gom o €, afew 59 ava & IR w1 fF 98 v 3
FHETET H F FL1 8, o d Fed ol

1. Ex-officio / Ugel

2. Claimant / GTdER

3. Ex - Ante / Q?-Ig_\q—@
4. Stakeholder / RaYUH

Correct Answer :-

« Ex-officio / Uee



21) Who appoints the Advocate-General for the state? / I & forw AgIfATeEar &Y ﬁl’gﬁ-‘d ST
FIAT 82

1. President / TTgUfcr
2. Chief Minister / HEIHAT

3. Parliament / OIS
4. Governor / TodUTdd

Correct Answer :-

o Governor / TadUTel

22) A test that predicts the future performance of a student in a particular area is known as: /

& qdeTor Y R [y & A v S F 0T F vl i srfsgaroft wRar g, A sw A
ST ST 8

1. Diagnostic test / AT {eich GLI&TOT

2. Prognostic test / QATHTY TLT&TOT

3. Achievement test / SUGITe)T UT&T0T

4. Paper Pencil test / PIIToT Tl GI&TOT

Correct Answer :-

« Prognostic test / GaTHTAY TJI&TOT

23) India after independence relied on food crop supplies from USA under the Public Law

_ o= RraRawdan & sddtd Faaadn it & 918 AR W1 FHd
3mqfd & fore @g=d T AR W) s am|

1. 450

2. 490

3. 480

4.470

Correct Answer :-

e 480



24) among the following is an example of industries which are run with the help of
family members, friends and relatives. / ﬁlﬂﬂﬁ'@ﬂ' & HYY, Tsh 1) 3?3f|?T Cal
3aTEI0T §, it URAR & e, Xt A Redart 1 #ag & Tare e §)

1. Large and Medium scale industries / a@ @T HEYH IR % G_E’Jn"'[
2. Capital industries / CUEﬁ L3I

3. Cottage industries / W T

4. Regional industries / &1 3A19T

Correct Answer :-

« Cottage industries / g‘iéll 34T

25) The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose - / ﬁma’rmﬁﬂwﬁmmmﬁ foraehT 3Ustier
& 35T W 3T WA FT IeTGe et & forw 39y e ra € -

1. Fiscal goods / IrsTepIoIT ER—T:[U

2. Capital goods / CET?ITIH ?R?j(’

3. Consumer goods / STHIHT ER—T:[‘Z"
4. Perishable goods / Tl ?-Rﬁ'(’

Correct Answer :-

« Capital goods / CJ\G?I?'IH Eﬂﬂ'(f

26) The amount of water vapor actually presents in per unit weight of air is known as: / gaT &

ufd 51§ 9R & 3URPY arsg Y AT Fgardl ¢:
1. Absolute Humidity / faRU&T TG

2. Saturated Air / HFJ}T arg

3. Relative Humidity / STUT&TR 36T

4. Specific humidity / fafRre 3mear

Correct Answer :-

« Specific humidity / g 3méar



27) The Conference held in led to the establishment of Non-Aligned Movement (NAM). /
A ITAIT FFAST F FROT [ AT et (NAM) Fr st 93

1. Yugoslavia/ @EATIaAT
2. Belgrade / deTdS

3. Egypt / & &

4. Bandung/ EI'I§3T

Correct Answer :-

« Bandung/ EI'I§'JT

28) The name of the teacher of Ajivika religious sect was: / TSI AT €NTfe® TIGTT & A FT
olTH UT:

1. Puran Kashyap / G3eT &hgU
2. Ajit Kshekamblin / 31fId &Tepafored

3. Sudas / gard
4, Makkhaliputra Gosala / H?F@ﬁ'g'zf INRAT

Correct Answer :-

« Makkhaliputra Gosala / H?F@'f%l'gif INRAT

29) The method of teaching that is suitable for developing democratic attitude is: / fRrator &Y
faftr St et TReHIor Fw e #3= & o sugea &

1. Brainstorming method / faaR-#Y= fafy
2. Activity method / ITfafafer fafer

3. Lecture method / am&aTe fafer

4. Historical method / Ufaer&e fafer

Correct Answer :-

« Brainstorming method / f[daR-7Y= faf

30) The evaluation that is concerned with the performance of the individual in terms of what he
can do or the behavior he can demonstrate is termed as: / dg H‘\?ﬂ'lﬁ' S ITFT & U & T



# & fF 98 91 X THAT § T I§ S SYGER IS RIT FT ThdT 8, 3 AHT gl a1 §:
1. Formative evaluation / fAdToTcH® Hedlhed

2. Norm-referenced evaluation / HTHTY -3 TRAT T HedTched

3. Summative evaluation/ JTITTcHD HeATehed
4. Criterion-referenced evaluation / #ATAGS - TG HedTdhed

Correct Answer :-

« Criterion-referenced evaluation / FTIGS - TE (97cT HeTTehel

31) The proponent of basic education is: / Fel v & g+ §:
1. Mahatma Gandhi / HAGIcHT ey

2. Swami Vivekananda / H?-ﬂ?ﬁ derde

3. Jiddu Krishnamurti / f57g pourafet
4, Rabindranath Tagore /X iaa\aal'a SR

Correct Answer :-

« Mahatma Gandhi / #AGICHT I

32) Cooperative banks in India falls under the Banking Regulation Actof ./ HART &
TerId® & IR Rfawwe sffaas & siada sma #)

1. 1947

2. 1950

3. 1949

4. 1948

Correct Answer :-

« 1949

33) Which committee recommended for the creation of the post of District Development

Commissioner? / el fashrr g & v & fa#ior & fae fra afafa o Rwier A

1. M.L. Dantwala / TH.Tol.&lddTell



2. Ashok Mehta / 3721 FgdT
3.G VK Rao /3. . . T
4. Hanumantha Rao / ?-Tj?l?lT e

Correct Answer :-

« GVKRao/SH. d1. . 74

34) Which of the following is a Greenhouse Gas? / AFaAfaf@a # ¥ #iq v NagEw I &2
1. Argon/ 3T

2. Oxygen / 3iTreToTel

3. Nitrogen / ATS¢IoTd

4. Carbon dioxide / PTI SBHTFAES

Correct Answer :-

« Carbon dioxide / BT SBITFAES

35) Which of the following is not included in Project method? / fReAfaf@d & & #le Wsiee
fafer & enfAer i &2

1. Problem type / UTe[eld 15U

2. Projector type / ‘;ﬂm [AER]
3. Drill type / fSer T30

4. Inquiry type / $r|\cpdT€4€I cIsy

Correct Answer :-

A o

« Inquiry type / $cIhdIIRT CTSU

36) Which of the following is not an aim of Social Science? / FFAfaf@dT & & a1 AN+
et &1 v 3T AdT B2

1. Developing right attitudes / Tel aq?ﬂ?{% feh [ el

2. Intelligent democratic citizenship / gi@d-llo-l CICGUECIGIEIEG T

3. Building social competence / ATHTTSH am?ﬁ:a &1 fAATOT




4. Making a rich economy / Tch Hg 3 JeqaqEAT TATAT

Correct Answer :-

« Making a rich economy / Teh 3G JATTEAT AT

37) Which of the following is not the objective of teaching Social Science? / FFafaf@d & ¥ Fa1
AT FAATT FY IgT HT 3552 781 82

1. Social development of the child / << T TTAToID fdhTd

2. Creation of leadership quality / c-\ldycl hr J[OTAHT T fSaToT

3. To prepare an ideal citizen / Tch 3TeT ANTRS IR Al

4. Memorization of the events / ETEAT3 T THIOT

Correct Answer :-

« Memorization of the events / ETEAT3 T THIUT

38) Which of the following institutions was not founded by Mahatma Gandhi? / fAa=faf@a &
A T a1 THYTT FAGTAAT el & GIRT GATRAS 781 R aram a2

1. Seva Gram / GdT I
2. Phoenix Ashram / ‘ﬁﬁzw ITHAHA
3. Banaras Hindu University / SeTRE Teelg fa@iaarerdy

4. Sabarmati Ashram / GTeRAAT 3THH

Correct Answer :-

« Banaras Hindu University / SR f&elg far@iaarery

39) Which of the following was the most important reason for lowest sex ratio in the 1991 census
of India? / AFATATET F F 74T 1991 F HRT HT FT0TAT F FIX FoT TN F7 HIR
HgcaqoT HROT AT?

1. Sex selective abortion / T HOT &

2. Malnutrition / TQTEI'UT
3. Son preference / GF UTAHhAT

4, Undercounting / 3T9JT0TAT



Correct Answer :-

« Sex selective abortion / chedT 30T G

40) Which of the following is the most prominent problem that a teacher faces while teaching
social science? / mﬁﬁﬁmﬁmwmﬁ 3t v T Y o R
e & ERIeT JTelt 2

1. Balancing the different learning needs of the pupils / et & Tt 31fQerer 3maegaan3it
T HfoTd e

2. Helping all students to get maximum marks / T STT Bl JTABTH 37k UTH T H AGG, Pe]

3. Helping the students to meet long-term goals / ST &l &rerehTfore weat &y g B H FGE P

4. Accommodation of diversity of the students character / STt o TR T TATaYdT &1 3mara

Correct Answer :-

« Balancing the different learning needs of the pupils / faanfdat & fafdear 319 3maegdan3i

ol HJfored e

41) Which of the Indo Pakistan wars resulted in creation of Bangladesh? / HARI-ITfhEdTeT &
forer e & TROTATaEYT SiFaTge 1 AaAToT gam?

1. 1999
2. 1965
3. 1984

4. 1971

Correct Answer :-
« 1971

42) Which among following schemes was first implemented for the alleviation of poverty in
India in the year 2015? / fas@faf@a & @ wlar @ Ferem af 2015 # s 7 76 377w & o
GG R

1. Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / &l INeT T
ITHITT TSR ITREY TAfATH

2. Pradhan Mantri Gram Sadak Yojana / TUTAHAT ATH TS Trolell



3. MUDRA scheme / HgaT gratelr
4. Central Cooperative Scheme / h,IF TgehIT ATSTAT

Correct Answer :-

 MUDRA scheme / [gT ITtell

43) Where is the head quarters of United Nations situated? / '\‘l'ﬂﬁ-—cl' IS¢ T AEITTT gl fegd

&2
1. San Francisco / T<T ITAEhT
2. Washington / aTfoeTet

3. New York / =g ?Zlyléﬁ
4. California / hierpIfaraT

Correct Answer :-

« New York / F{Eﬁ'rfﬁ

44) In the modern education system, the role of social science teacher is as: / m%lﬁﬂ? fovat
yoTTel! , WA farer fretes Y sfAeT 39 w R §:

1. Follower / a—gfzrreﬁ

2. Friend / &
3. Facilitator / 3-]?1?.'?175

4. Philosopher / GTAAMEAT

Correct Answer :-

« Facilitator / 31eJG2Ih

45) How much is adiabatic cooling rate? / fEURYsa ofiq g (vi3umafes a;gi%m ) fFadr g2
1. 5° C/Km

2. 8° C/Km

3. 15° C/Km

4.10° C/Km



Correct Answer :-
e 10° C/Km

46) Name the state which granted the ‘Golden Farman’ to British to trade freely on payment of
500 ‘PAGODAS’. / 3H T &1 ATH I frwat fafeer 1 500 ‘qas’ & sperarer W Fada &7 &
SATIR FXeA & FIT Foaer waAr feam 4|

1. Bidar / e

2. Bijapur/alalgi
3. Berar / SRIX

4. Golconda / JIIF@ Sl

Correct Answer :-

. Golconda/allﬂgﬁ' Sl

47) Who founded the city of Agra? / 3ITIIRT 2M&T & TUTIAT fhdet $r?
1. Humayun / §TFIT€\K

2. Shah Jahan / MT&STel

3. Akbar / 3hdaX

4. Sikandar Lodhi / ffeheq et

Correct Answer :-

- Sikandar Lodhi / f&iehe irelt

48) When was the First Battle of Tarain fought? / TRTgeT HT YUH ¥ Fd ST AT UT?
1. 1206 A. D.

2. 1195 A. D.

3.1191 A. D.

4. 1175 A. D.

Correct Answer :-

« 1191 A. D.



49) The study of ‘Man’s ethos’ is: / AT & TAHTAR’ BT AeqA A= a1 &:
1. Psychology / TTSdIcIlSiT

2. Sociology / ATl

3. Anthropology / R IeIrCIc

4. Geology / IEEIGIS]

Correct Answer :-

« Anthropology / TUTATeITSiT

50) Which of the following statements is correct regarding social science? /

fFrafafad § @ #1991 Y g fagH & J99 7 981 82

1. Social Science can be optional at school level. / GTHATST [a=1TeT faaTerd TR O dehfeud &
Hhell &

2. Social Science studies only the events of the past. / TTHToIh ATl dhaol 3T T TCATHT BT
HCTT FRAT B |

3. Social Science is a harmonious blend of various subjects. / AT =i, fafde= fawaf &r
ATHSTEIYOT THH0T & |

4. Social Science subject matter changes according to the ideals of the ruling party. / TG fag fawg
I, TP <A P TG & STIR g&adl g

Correct Answer :-

« Social Science is a harmonious blend of various subjects. / ATHTTSIh Ta<ire, TS fawat &
ATHSTEIET a0 § |

51) Students re-create the teachers’ apparatus in which a paper clip tied to a
string ‘moves’ over a magnet. This method is called . [ BT, Rrere Iuw U B
T:gY B &, ForaH TP g9 & SR TP R J 471 TR feaa awman siran 21 59 fafd
G| Hgl TdT 8

1. Inquiry Resolution / S Wﬁ
2. Guided Inquiry / GRS PESIE)
3. Open Inquiry / 31U ISdTS

4, Invitation to Inquiry / S & forw faeroT



Correct Answer :-

« Guided Inquiry / FREfRIT godrs

52) An observation which is written like a short story is known as: / Bl HEHI BI
e fafQd v saaied fA w0 A ST o 8:

1. Conduct Register / EIET'{TC' 3 i?m\az

2. Anecdotal Record / SUTEITATCHS Repis
3. Teachers Log Book / f1&1en olraT b
4. Cumulative Record /FiEPCﬂ |§$Vlé

Correct Answer :-

« Anecdotal Record / SUTEITATHS Repis

53) Who among the following was popularly known as the ‘Frontier Gandhi’? / ﬁ'ﬂﬁl@’d )

5 whfeaz Wit & 91 | ST SIEr 917

1. Maulana Abul Kalam Azad / HISITAT 3ol helld 3TolG

2. Igbal khan / $chdTel @i

3. Abdul Ghaffar Khan / 31&%01 ITFRIY Gl
4. Hasrat Mohani / 83 #lgal

Correct Answer :-

o Abdul Ghaffar Khan / 3-I®goi ITFPR Yl

54) Who founded the Ramakrishna Mission in 1896 to carry on humanitarian relief and social

work?%mﬁnﬂaﬁﬂmeﬁ?wmwmﬁwﬁ%mmﬁmaﬁwm

1. Swami Vivekananda / wrﬂﬁé?ﬂq?;

2. Ramakrishna Paramahansa / IJ[HPTUT WRASH
3. Swami Dayananda Saraswati / TaTHI gIlelg TXEAAT
4, Blavatsky and Olcott / TaTdlcEdT 3R 3fedic

Correct Answer :-



o Swami Vivekananda / mﬁw

55) In which year was the Dutch East India company formed? / Sd9 é‘&’ 3'%'5“ HYHI BT TS
oo adf  foram ram u12

1. 1616
2. 1620
3.1614

4. 1602

Correct Answer :-

« 1602

56) Where in the “Ninety East Ridge” submarine volcanic ridge located? “ATSeTel §¥¢ R "
ARG Saresat gaaai (Ren) Fat Rya 82

1. Indian Ocean / 8¢ HABTANR
2. Arctic Ocean / 3TThfeh HSTHIY

3. Atlantic Ocean / 3E€ell{ch HSIHTIY

4. Pacific Ocean / 9_Id HGTHIIN

Correct Answer :-

57) The largest contiguous cotton-growing region in the world is located in which among the
following countries? / PFAfaf@d A ¥ fFT g1 7 g «1 o 731 AfFART FI U &7
feuag?

1. China / 9l

2. United States / 'H'ﬂ?ﬁ T HANHT
3. India / AR

4. Pakistan / UTfoheciTel

Correct Answer :-

« United States / '\':l'g?ﬁ T AR



58) The only two landlocked countries of South American continent are / gfeyor IrARSY
ABIEAIT F Fael &) FUA-FEH &2 el

1. Surinam and Guyana / ﬁﬁ?ﬂ'ﬂ 3R I[ITAT
2. Columbia and Paraguay / Plefarar 3R R

3. Bolivia and Paraguay / @l [ IR W

4. Ecuador and Parana / SFATSR 3R TRTT

Correct Answer :-

« Bolivia and Paraguay / dielifaar 3K 4red

59) Which among the following is the lowest level of a body of water such as an ocean or a lake?

| fFafaf@a & & Fa1 AgrEER AT e St ST Y 3H1E FT N g T E?
1. Demersal / ST

2. Neritic / ARTEH

3. Benthic / df=ed

4. Pelagic / Uelfoteh

Correct Answer :-

« Benthic / 9f21h

60) Who was re-elected the President of INC at the Tripuri Session in 1939 by defeating
Gandhiji’s candidate Pattabhi Sitaramaiyya? / 3TTefisi & 3FAGAR eI HITRAAT FF g
1939 % Brqdr @ F ey FE & sreer gafraifRa fre are?

1. Dr. Rajendra Prasad / 31, Troig UdTG

2. B.J.B.Kriplani / &1.31.&. pUerrelr

3. Subhash Chandra Bose / §HTY I g
4. Nellie Sengupta / il @FWIHT

Correct Answer :-

o Subhash Chandra Bose / gamr El'c\' ag



